EH HEE F 1] HE - 28 B HE THEE
EEEAENOEBNGR2E thr Can F3=g 1/21 ~ 3/25
AR ﬁgf’ﬁ‘) - BEAE | 10:00~11:00] 2,500
BiEZRkL v F sm= rEee 280
B [Exosicrnziks
o=t Coms | e | DT | 121~ 35 B
— el : N 10:00~11:30| 5@% 1,500 9
:/71740)71:7'0?‘16)7 AYZRS959-)| 308 igrn = SRR
TIRATRERLELEDS| )58 s B3z | 1/23~ 027
IR TR 20 % EENE  [10:00 ~11:30 2,000
K| T=RH—7IL | (aEE=) F=23- 460
DDEETOHZ - o @BF=s | 1/23~3/27
l - = hEE 2100
EROREBDRE =308 — Al I2EE
Blatieres (YR R595-)| 08 BF=2 | 1/17~3/28 | 5@ L 500 /3
22ACH0O) e 1E0 D | BEhaE [10:00~11:30| FSE@EmME
SxA2AT | FECEER e N Al N £210@ 5@%> 1,000 9
K “xEEBREHL Kk |(BLFLERER)| 103 XFED LB
BREDT — N
HTEBITEET EXBHETF —fi% gg/_\% 131./ 13(7) - 51{2.840 4000 9
(@RI ARG e o DAY=t ’
':Pma ﬁ RBEE 210 @
BRSSP AOEMIDES [E 8 e | BFEB | 1/18~3/29
A (ﬁgfi 555%‘ EEAE | 9:00~10:00 | 3,000
SERNL v F == KB 2108
FERLT
IS ST i N J\E . ~ .
Imn Bh= 2 A A
= E.I.: nH& (B 0= %f:é 10 i) - 1@1] :30 3,000 9
2T 1R
291 LEBZ - n FF=e | 1/18 ~ 3/29
eslivEl= ﬁi‘i{fi) 0 ﬁé‘ EEHAE | 13:30~14:30| 3,000
ST sh= (& 210
WA

OZ#NZRZL. PF=0ELRARBEIR/IIIIRBEDEDTHBLIAG T
<IEEWo EFFNBHTTHEIN ZDHER>EBZEIEROFTCRHEEIZE .

OFBIRTINDT. HEDICHLIAHLTZSL.

XAEB (REEB) £12/29 () ~1/3 (K) ZBRE. £ - B - RBHZEMT

XBCHSICRDFrEILERT (EFEFFHIEZD)
HREVLEDESE

NEPRHFEHZEBRE (FF=SEL EERSEEN)

28-6071 (AEEBIKEE)




